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Physical layer

Represents the physical devices that
Interconnect computers
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Data link layer

Responsible for defining a common way of
Interpreting these signals so network
devices can communicate



The Ethernet standards also define a
protocol responsible for getting data to
nodes on the same network or link.



Network layer

Allows different networks to communicate
with each other through devices known
as routers



Internetwork

A collection of networks connected
together through routers, the most famous
of these being the Internet



IP is the heart of the Internet and most
smaller networks around the world.
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Transport layer

Sorts out which client and server
programs are supposed to get that data
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1. Which of the following is an example of a network layer (layer 3) protocol? 2. What's the difference between a client and a server?

O Ethernet () Clients operate on the data link layer, and servers operate on the network layer.

D UDP ) Clients and servers are different names for the same thing.

O TCP () Aclient requests data, and a server responds to that request.

Ce

C‘n A server requests data, and a client responds to that request.

3. Which of the following are examples of layers of our five-layer network model? Check all that apply.

| | Thetransport layer
| | The presentation layer
| | The application layer

| | The physical layer



Cables

Connect different devices to each other,
allowing data to be transmitted over them



The most common forms of copper
twisted-pair cables used in networking
are Cat5, Cat5e, and Caté cables.
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Fiber cables

Contain individual optical fibers, which are
tiny tubes made out of glass about the
width of a human hair
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Hub

A physical layer device that allows for
connections from many computers
at once
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Collision domain

A network segment where only one
device can communicate at a time



If multiple systems try sending data at the
same time, the electrical pulses sent across
the cable can interfere with each other.
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Hubs and switches

The primary devices used to connect
computers on a single network, usually
referred to as a LAN, or local area network



Router

A device that knows how to forward data
between independent networks
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1. Which of the following statements accurately describe the differences between a hub and a switch? Check all that apply.

| Ahubis a physical layer device, and a switch is a data link layer device,

|| Hubs are mere sophisticated versions of switches,
| Aswitch remembers which devices are connected on each interface, while a hub does not.

|| Ahub causes larger collision domains.

3. What's a router?
2. What does LAN stand for?

() Little area network () Adevice that knows how to forward data between independent networks

) Locally available network O A network device used specially for fiber cables

() Large area network ) Aphysical layer device that prevents crosstalk

)| o~ . .
() Local area network ") Amore advanced version of a switch



Your company wants to purchase some network hardware to which they can plug
the 30 PCs in your department. Which type of network device is appropriate?

a) A router
b) A firewall
¢) A switch
d) A server



You received a video file from your friend’s Apple iPhone using AirDrop. What was
his iPhone functioning as in that transaction?

a) A server
b) A client

¢) A local area network



What is your computer or smartphone functionning as while you watch a video from Youtube

a) A server
b) An end host
¢) A client



Your company wants to purchase some network hardware to connect its separate
networks together. What kind of network device is appropriate?

a) A firewall
b) A host
¢) A LAN
d) A router



Your company wants to upgrade its old network firewall that has been in use for
several years to one that provides more advanced functions. What kind of firewall
should they purchase?

a) A host-based firewall

b) A next-level firewall

¢) A next-generation firewall
d) A top-layer firewall



